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This week’s bechina starts on the top of "X X% 171 295 17910 .3 7
and finishes 15 lines from the top of a2 XY .7 77

Our mwn quotes a n>nn between *xnw n°a and %7 n°a saying N1 73RN 2R XAW N°2 210 012 37230 7802
9oRN X7 2R 270, The xwa brings four opinions of what is the underlying issue.

1. yam1 27 = axpn

2. 7127 — 0w 772 17100

3. 9017 27 — PIWUW <MD 2N 77X
4, prY> 27 —12TW PRWHn D1WH A

1. Why didn’t the other opinions accept %11 277?

2. Why didn’t the other opinions accept 727?

3. Why didn’t 701 21 (and presumably the other opinions) accept prx» °27?

4. Why didn’t pr1¥> 27 (and presumably the other opinions) accept o1 27?
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WM I VIR AT 2277 A0 I "2

TNIR JAR REA 7PRIIRD AR MR AT 020 LPIOR ARV IRE AKX PRWR 1R XX 1117 DR POM0 TR
(:3p NAW) .70 IR XA PPwRR Ox)

TTW X2 197 03w 799IRY (IWR WRD) PR W 212 MO HW 79370 DY 0IR 710K ,ATI0 020 INR T
(.02 P2Y) 1w PORN PWRIA

Our xna learns from the mwn in 12177y, that according to 7m0 2, an egg laid on the first
day of 2w o1 may be eaten on the second day. Therefore, we can deduce that he would not
allow it to be eaten on the first day.

5. Would 7m »21 find 7717 727 self-contradicting since he held both
- that juice from a fruit designated for eating, 2nn 1n X¥vn
- a PR 777N 7%°2 may not be eaten on the first day
if he held the underlying reason for 9oxn X% 210 a2 3779w 7%°2 s ...
A) a1 270 XA, (if Yes explain the contradiction)

B) 7275 71207, (if Yes explain the contradiction)

C) A0 270 e me own. (if Yes explain the contradiction)

D) prx> v272 121w ppwn own. (if Yes explain the contradiction)

6. Therefore, we are forced to say that jam1° °27 explains 210 o012 7721w 732 like
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7. How does 73m° °27 answer this self-contradiction?

8. How does X1°27 answer 1M’ °27’s question on 777> °277?

9. Our X3 quotes a Xn°>7a that says 17702072 PR 20 212 T771IW 78°2 TR D22 77913 7302 IR
XP°901 .72WN RYW 2°2w32 9377 DR 7778 71910 DaR 707 2VID 72 0% K109 DR 72 NMoDY XY IR
IO 1210 A7R2 72703 aRY 30K, How did our X723 initially understand 7108 X901 and
what question did it ask on 701’ 27 and pr¥” °277?

10. According to this initial understanding, what is the reason for the Xn>12’s last statement ax3
MR 1710 79X 727vN1?

11.A) How did the &7 n3 adjust its understanding of 770X XP°501 to answer for A01° 27 and °27
Pr%e?

B) How does this new understanding of 770X Xj°501 cause a difficulty to the last clause of the
Xn»92 which says M7I0R 1912 9782 727vN1 oXY?
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We brought a xn>>12a (question 9) which raised a question on no1° 27 and pnx® °27’°s
understanding of 21 ara 7791w 7. To resolve this question, we had to make an
adjustment of our understanding of the xn»92’s statement 710X 712°90. This adjustment
left us with a question on the end of the &n>12 as to why it should be that 7%&2 1729vn1 ox)
MoK 1712, The X7n) suggests that perhaps an egg is considered n2wn and therefore not
v2. To validate this suggestion the X7 attempts to find a x1n who subscribes to this

opinion.
The next series of questions are based on the x3’s attempt to find this Xin.
12. A nx°1is something that ...

a) is never sold 2.

b) is sometimes sold 7°3722.

c) is always sold 7°172.

13. Our X773 quotes a mawn regarding 0°°X%2. Normally 07> (and 1377v) are £°nXm NARa 0.
The mawn says 1P27° 1210 MANR2 MR NIINRA 129901 P27 0797 °R?2 HW 107N °9°am 1% 1w on
oM .WTPH NN 127TW DR AR RN 027 P00 .2ONRD DR 19V 0ONIR 20 LPR7 "7 12T
... TIVAW MR R2PY °27 .7292 0°127 AW ROR WIPH K DINN.

A) Do the onon include eggs as one of the six items that are 721w and therefore not 5°v2?

B) Does &2°py 27 include eggs as one of the seven items that are 727w and therefore not
127?

13. There is a NP1 as to why 2 X&n °27 categorizes Jn2n °2°2n as a 23wn 727 which is not >°va.

A) 1any> "2 says because it is in the category of min? 1977w nX. What does this mean and do
eggs fit into this category?

B) woph 12 nwiaw "2 says because it is in the category of mian? 1277w 95. What does this mean
and do eggs fit into this category?
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14. A) Our X3 brings a second 71wn, or more accurately a Xn»92 that elaborates on a 71wn in
.7 NN, The Xn»72 discusses containers of dried figs where on the top of one of the
containers (but not mixed in) were figs of 7m0, Figs are 2717 in 1327772 72170, Normally 7m17n
is IXM2 7R2 °v2. The Xn>12 discusses if and how these 717N figs can be 9°va. Fill in the
following chart with ...

a) If the total figs in all the containers is 101 times the amount of 72170 figs, the 2170 is 02,

b) If there are 100 tops of containers which are not 72170 it will be v2an the one that has
170,

c) It can never be 902 because the tops of the containers are sometimes sold 7°322.

YT 020 RIVEPR G
7787 27
a7 27
B) Therefore according to IS the Xin of the Xn»92 who says that an

egg is n2wn and therefore cannot become % 02,

15. Based on the Xn>>72 brought in question 9 which said 70X Xp*50, our X713 had a question on
Ao 27 and pri¥? °271? How did "wX 27 answer the question?

Please feel free to add any questions/answers, mavii or headlines of the n1°»10 from this week’s A7:

Let’s plan to be 33 the nawn focusing on a simple 7117 of just the Xyw X»pPw inside:

Were you able to make a few minutes every day for an immediate 7911 of the portion just learned?
Were you able to make time on naw or Sunday to do a s of the first two o°o7?




